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ngs = 25 maxn = 50 000 kstop = 5 
peps = 0.01 pcento = 0.01
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ngs = 250 maxn = 10 000 kstop = 25 
peps = 0.01 pcento = 0.01
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ngs = 250 maxn = 1e+05 kstop = 5 
peps = 0.01 pcento = 0.01
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ngs = 25 maxn = 10 000 kstop = 5 
peps = 0.001 pcento = 0.001

SD = 0.491, N = 377 SD = 0.502, N = 377
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mean = 7, SD = 32, N = 47

mean = 32, SD = 35, N = 47 mean = 28, SD = 26, N = 47
mean = −21, SD = 30, N = 47

mean = 14, SD = 12, N = 47
mean = 15, SD = 38, N = 47

−150

−100

−50

0

50

100

150

Standard no sinreg maxn = 50 000 ngs = 250
kstop = 25

ngs = 250
maxn = 100 000

peps = .001
pcento = .001

A
ge

 o
ffs

et
 (d

ay
s)

(a)

(b)

(c)

(d)

δ1
8 O

c [
‰

VP
D

B
]

δ1
8 O

c

δ1
8 O

c

δ1
8 O

c

δ1
8 O

c

δ1
8 O

c

δ1
8 O

c


